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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

OpTiION—C
( POLITICS IN N-E INDIA )

1. Answer any three of the following : 10x3=30
wore o R e fofbt e Teq 79 -

(a) Do you think that union of Sylhet with
Assam was artificial? Write a note on
the separation of Sylhet from Assam.

e Gire ficee e Fm Wik I
SR ? PR o[l Breied qaPeaer Ry ofb.
- Cor ot '

(b} What were the main considerations for
bringing Princely States into Indian
Union? Why accession of the Princely
State Manipur proved more difficult?
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(2)

SRS WA OS IS TAWMEAR  AEA
FEACS @FWER o999 R Regoar =0
Czfea 7 e I WART S Ao ¥
@R wfoe 3 amifds czfea 2

(c) Explain the impact of language politics
on political development of multilingual
Assam.
IERTF P IHATSF RIPTS ST AT
o I 9|

(d) Discuss critically the circumstances
that led to the reorganization of North-

East India.
TaI-oF SRSY T W WRuR R
AR A S 47 |

(e) Do you think that the emergence of
regional party is an important feature of
changing nature of politics in Assam?
Explain.

e wwE WRkeRR wwe e
AR T 2R b wrge tafEy
1 SR 2 I =@

() Elaborate the reasons for which six
ethnic groups of Assam are demanding
ST status. What is the response of the
government towards the fulfilment of
their demands?
f IS SR = T wpifes wReifen
i WAl efe, =R f odERe TR
AR &S 5P QR AR 2
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2. Answer any three of the following questions :
5x3=15
et il R @ fofibr e Teq #41 :

(a) Discuss the Assam Accord of 1985.
O B, Ssbed REE ScEmsal 39 |

(b) What were the reasons for the
establishment of a University in Assam?
e gy e of et s PReEr
& =iz 2

¢ How can political settlement resolve
the problem of separation effectively?
Explain briefly by giving example of
Mizoram. )
PRIORMA  TPIF  IRIACE@ Ao
TNEMA @EE e R 1?2 fewRes
T FIICS AP |

(d) Write short notes on (any one) :
A @ GbR 8 5y G fore
(i) Gopi Nath Bordoloi
CSTRIY WA

(i) Assembly Election, 2018 in
Nagaland and Meghalaya

MG S cwmrs'wal%—mm 303
Wﬁﬁm’ﬁﬁ?ﬁﬁ

(e} Write a brief hi story of Naga revoluhon

o facwrzd «3 v @ e |
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3. Answer the following questions : 2x4=8

ors fira erpRd T for -

(a) In which two years, the strength of the
Assam Legislative Assembly was fixed
first at 108 and then increased to 126?

@A Pl IWE W ROPER TR G
HYYTS dob T WF TR PrEe TWR A 0
S & R 1 C2feE 2

(b) - Write any two causes for the rise of
language movement in Assam.

S ST ST SR 701 1R o741 |

(c) Write briefly about the  State
Reorganization Act, 1956.

ydad Y A0S R o WiER @ sl
forn |

(d) “Under the Government of India
Act, 1935, Assam had a bicameral
legislature.” Write briefly about it.

‘OO P IR, 359¢T RS WIS

B> Rewes wifte 1 W R s
form 1
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4. Answer the following questions :

(5)

woTe il erTRd Bad o

(a)

(b)

(c)

(@)

fe)

8A /859

Who was the Governor of Assam at the
time of Indian Independence?

SRSA FROETS TS TR WA
ket 7

Which Schedule of the Indian
Constitution deals with the adminis-

tration of tribal areas in Assam,
Meghalaya, Mizoram and Tripura?

o, C9E, AERE 9F fGER wwEie
GAFR PR e SRed MRYFA @

P wfES ?

Who is the author of the book, Ethnic
Autonomy Question in North-East India?

Ethnic Autonomy Question in North-East
India TS TR EEFAR 12

What is the full form of NRC?
NRC-3 #jf Hwfcb1 for |

Who was the first lady member of
Assam Legislative Assembly?

e RyFPeR AR IRl WU @
wifeet 2

( Turn Over )
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(6)

() Which autonomous council came into
existence in 19937

ob0 BO (@A FEefe AfkEwd od
2= 2

(g9 The Assam Association was formed
in 1903 with of Gauripur as the
.President.

"mo\awwaﬁfﬁzwwtﬁﬁcﬁﬁw
Sr—rvﬁ"‘wﬂal '

(Fill in the blank)
(4R 7% o1 1)
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OPTION—D
( GENERAL SOCIOLOGY—II )

1. Choose the correct answer : 1x7=7
w5 Teqeor i Sferea ¢

(@) “Culture is that complex whole which
includes knowledge, belief, art, morals,
laws, customs and habits acquired by
men as a member of the society.”
Who is associated with the statement?

‘ST gE TS BRI TR Wk I @,
fml, 3, CAfosel, wizw, S-S wF
St wfed FRER XE e 1”7
TREBR 70 QA /oS ?
(i) E. B. Tyler :
2 R @R
(i) A. P. Walter Paul .
Q. 9. SIFOR 94
(i) Edward T. Hall
a6 B, 2
(b) Social change is usually
S AT TS
(i} continuous L
(i) insignificant '
S
(ifi) very fast .
s Wiy - .
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{c) Which of the following is a formal means
of social control?

wee TrEy FAIRY fSete @F@r A&
e ST o = 2
(i) Belief / e
(ii) Legislation / Ru@E
(iii) Folkways / CIIS *[{=*q!

(d) The author(s) of the book, Human
Society isfare _
Human Society M3 RO @</
@REAR THA |
(i) Maclver and Page

TSRS SF o1
(i) Kinsley Davis :
et cofiy
(i) Lapiere
ke

(e} Through the process of the
individual becomes a social person
and attains personality.

—_ &I wfics gem i ifte afee
ARTS T T &g =S A |
(i) culture / TS _
(i) social control / i fAuz
(iij) socialization / ST
8A/859 - { Continued )



(9)

() The book in which E. A. Ross dealt with .
the concept of social control is

AW FEz™ ¥R @ E. A. Ross-9
D 41 o= 2

(i) Means of Social Control

QUL o SR ICGE

(ii) Social Control Through Ages
SR U (Al GER

(i) Social Control

“sfecwe FCaE’

(g9 Oswald Spengler is connected with
the theory of social change.

Oswald Spengler WHfEF “RTG
TGOE S T |

i) Linear
Mg

(i) Cyclical
LElERiC

(i) Conflict
TS
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2. Answer briefly the following : 2x4=8

wers figraes oy Ted fw

fa) Name two elements of non-material
culture. P :
o S o1 o AN oA |

{b) Give a definition of ‘social control’.
ST g’ 9ot e f |

(c) ldentify two causes of social change.

A RIS {o1 IR Srard F41 |

(d) Mention two factors of ‘socialization’
process.
STIfEPIFae 2AfENR 701 Some Seay 3411
3. Write notes on the following (any three) :
5x3=15
were R 5y G vt (R e fefien) -
(a) Meaning of culture
Hephoq s
(b) The role of customs in social control
(c) Revolution as a cause of social change
e ~fadTe T1e Roa Rya
(d) Impact of culture in socialization
AAFPIFITS AT S
(e} Formal means of social .control
AIfee FRER SR SHEeTR
8A/859 ( Continued )
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4. Answer any three from the following : 10x3=30
o R @I bR Tet 3
(a) Describe the factors of -cultural
variability.
ST oo FRFR I 741 |

(b) Discuss the need and importance of
social control in society.
e e REgE dasaTel 9F 9ve
REca scEmsa 410 |

{c) “Technology changes society by
changing our environment to which in
turn we adapt.”

Depict a picture of the impact of the
technological changes on the social
order.

“offeare  ARTEE WHR ORR AR
MRS oA REIRe wfd 961 s 2=

@17

efeee ARTSH SAERRE® (ARl AORT
94 foa mfe «1 |

(d) How does the process of socialization
affect the day-to-day life of an
individual?

TR iR g IR twafm S
e oeIe 31 2
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(12 )

(e) “The distinctive human way of life that
we call culture did not have a single
definite beginning in time.”

Elaborate the process of evolution of
culture in society.

“oift Aol 3F @R Row @1 SigmaRa
oAfFThl @I ¢ [ TS wEe @€
e 17

Fehoq FAITST AfEFAER SRO™ I 40 1

() Give an account of the role played by
friend, religion and the State in
socializing the people.

Jfes fEdesd I© 37, of oF 2 &
S 212t I3 ©R b1 37 e |

% % ok
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